
Escoamentos	Compressíveis
Aceleração	em	Bocal	isoentrópico

Nitrogênio	é	armazenado	num	grande	cilindro	à	pressão	de	1MPa	e	298K.	Se
o	Nitrogênio	é	liberado	para	a	atmosfera	através	de	um	bocal	que	o	acelera
para	Mach	1,	qual	a	velocidade	ele	atinge?
Nitrogênio:	K=1,4;	R=297J/Kg.K
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Isentropic	Flow	Relations	Perfect	Gas,	Gamma	=	 1.4 ,	angles	in	degrees.

INPUT:	 Mach number 	=	 2.0 	 Calculate

Mach
number=

Mach
angle=

P-M
angle=

p/p0= rho/rho0= T/T0=

p/p*= rho/rho*= T/T*=

Normal	Shock	Relations	Perfect	Gas,	Gamma	=	 1.4

INPUT:	 M1 	=	 2.0 	 Calculate

M1= M2= p02/p01=
p2/p1= rho2/rho1= T2/T1=

Oblique	Shock	Relations	Perfect	Gas,	Gamma	=	 1.4 ,	angles	in	degrees.

Scratch	pad	 	=
	 Evaluate
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